
 
 

Problema 1 
 
 
 
dEy = λdl cosθ/4πε0R

2              dl= Rdθ                 Ey = (λ/4πε0R
2 )      INTEGR( Rcosθ dθ) 

 
 
   Ey = -  (λ/2πε0R

 )   y                Ex = 0  
 
                                                                      Problema 2 
 
 
  Bs = µ0nI = µ0nI0sinωt                 NΦ = NBπR2   =  N πR2  µ0nI0sinωt 
 
E2πR = N πR2µ0nI0 d(sinωt)/dt  = N πR2µ0nI0 ω cosωt     E =1/2( NRµ0nI0 ω cosωt) = 16.9 cosωt 
V/m                      
 
ε = d(NΦ)/dt = N µ0nI0[sin ωt dA/dt + Aω cosωt] ε5 s= 9,262 V 
 
 
 
  


